SPLIT LINE I
lo, 28 M6 5 s A ! M4 10;6 THESOP M5 10-4PL  whl28.8.9 ‘2675 ! M& T 10-4PL
] TN w LR~ L —H PR || R
H 2 | RS- A @ k= ET . /@\ . }
o folate G [ [T
. L e, ]/ Q\ & | E,
19 19 i DETAIL E ‘ H
| 29 8 288212 & i} 3| 5|~y
' PART VIEW-X L824 1s| & - +7€ ) 2 &l ,‘7,,L,,ﬂ,7
| g 2 &S\ YA 3 T Zoe]
' 2 ~SPLIT LINE 8 8 Q - B R e - a0 |
" _~PART - P o
I_ VIEW-X %Y 1-04.1 C — ==
- D 3 | 3 |1 8| 17 | 22 | 22 | 17 |8
2 | i 3733-6PL A
T == - ARCHED
‘ AREA ‘ —— M
¢ Y |yt 24 ) mm DEEP [16
X mNS S E = "ot o +— -t
T M5 | . 10 )
|~ | - |
R120 A 3 o 2 I T % ® e 2 é
R60 = DETAIL E - i I 0 M5 \/|13-4PL I e Y ;R/ v e I
RV | OPPOSITE i A5 I B AN /““W O
é u FACE EQUAL M) r~
T
© ! g Ar2 NN SECTION C-C SCALE 1:2 L SCALE 1: 2
: 4 a3l ALL HIDDEN LINES REMOVED FOR CLARITY 819, 22 22
18 19 51615} (P5-4PL 94 SCALE 12 15
SCALE 1:15 SECTION B-B & 2 :
I—-- - ~2LALE Tl ol =] o wi=! 48 NEAR SIDE ONLY-_$ =
| 2 2 A 165 95 il g *7% c Nmo,,jp,i,i,i\'ﬁf
| LA 1 ¥ R15 T T BB ég‘_};
<. \ . nfang e o
v Mi2 é ::::E::g = J.D.W, QI ___________________ 133
vl =1/ “ SCALE 1225 (SIS
e 3 A b O - S —o @ THIS OUTSIDE CONTOUR
Sl | F R =l TO FOLLOW THE INSIDE Z
o 7 ==oog AR LML CONTOUR OF 1-04.3 X 1=
QTY.PART NUMBER in 0 00) [CoISST 1 “ARCHED AREA mm DEEP SLOTS TO BE TAKEN @ c
T 03B-41-00-T-O0T-BED PLATE 6 23 | 23 6 S BN RE Smm THICK SCALE 1:2 OVER FROM 1-04.1 B = on Fr
03B 1-00--03-Li MAI SEARIG S E St Tz S — s WEAR EIESTI—fJgy  SCALE1:2
IERR ! I T
-41-00-1-06-CROSS I L REQD SCALE 115 T\ 12x95
2 |09B-41-00-1-07-MAIN BEARING OIL CUP | P34PL | (BD e 55-UNDER | 581 \%ﬂ
1_[09B-41-00-1-08-GOVERNOR THRUST BEARING b .
09B-41-00-2-01-CRANK SHAFT+ FLYWHEEL = Imm THAICK SCALE 1:2 B
09B-41-00-2-02-PISTON+CROSSHEAD o= — - — 35,5, (1049 w0
09B-41-00-2-03-CON-ROD RS i Sl 1 855 AN
B e — % N el g —— o St =/
—11-00-2-05-'D'- , (552 I (N Jom PN ! =L =
09B-41-00-2-06-ECCENTRIC STRAP a ~. — | e I |/ CYLINDER ¢ | A 1 < = =2 I N
09B-41-00-2-07-GOVERNOR PINION GEAR . I T S B P e R e o) - @ 5RM 66
09B-41-00-2-08-GOVERNOR DRIVE BELT " = o I AT e n B Rl R M5 18-4PL 315 315 © & SCALE 13
09B-41-00-2-09-GOVERNOR BEVEL GEAR N2 I N S m I G S
09B-41-00-2-10-GOVERNOR CONTROL VALVE+ACTUATOR Y oo N I 437]%77—77 T o~ I
2 09B-41-00-2-11-GOVERNOR FLYWIEGHT+ARM 0 31+ 3 EH | SR = |
1_[09B-41-00-2-12-GOVERNOR COMPRESSION SPRING ' | | | -~ '
2 09B-41-00-M3x1s A-K CYL HEAD SCREW ' 395 | 395 3 845 895 ‘?QJ"
3 109B-41-00-M3x4 A-K GRUB SCREW 47 L7 m ' | ' B
1_[09B-41-00-Mkx12 A-K GRUB SCREW i —H "
6 |09B-41-00-MLx14 A-K CYL HEAD SCREW ! ©) @ || FLYWHEELG | Lo !
L_|09B-41-00-M&x22 A-K CYL HEAD SCREW 1] o Al ot N |
L |09B-41-00-M5 DOME NUT 1 o CCuT bUT Lo |
3 109B-L1-00-M5 NUT 19 . | ‘ | — i "
5 109B-41-00-Mox1, A-K CYL HEAD SCREW ! [ i
L |09B-41-00-M5x20 A-K _CYL HEAD SCREW LA w| | | i il !
L [09B-41-00-M5x34 A-K CYL HEAD SCREW @ 6-3PL o (b T T &Val I | |t | FoR ALL OTHER DIMENSION DETAILS REFER TO 1-021
2 _109B-41-00-M6 NUT T CsK | == == - == == == == == i
—_—— - - - - - _——— & ‘ ot
> | AP |
>
SN = | ym F SO DESIRED THESE PARTS
AFTER 8. 21 |12 466 2. 3 AND BITHER BRAZEDYCLUED
REFER SIDE VIEW ‘/fSPOTFACE SPOTFAC'NG\ . OR SOLDERED
i ¥ R118
H o N 5 1. 39 .
I_!_I_| I’LLH[ - T 12*7§ L] : | I o
T o TH] m 1HE P —
T — ! \ N — * ! ‘ ‘
[ [ | | N\ o |
T T — = :
. R ! i o [T | !
T RIE SCALE 13

NOTES: THE ORIGINAL DRAWINGS WERE GIVEN TO ME: DWG No M76-6004-C DATED 14-9-76, TITLE: "CRETORS POPCORN STEAM ENGINE - MODEL ECX" AND DWG No M76-6003-C DATED 25-5-76, TITTLE "FLY-BALL GOVERNOR MODEL ECX" BOTH BY R. BROMPS. (CONV. FROM IMPERIAL TO METRIC)

TITLE

A 1 CYLINDER HORIZONTAL STEAM ENGINE
MODEL OF “"CRETORS POPCORN" ENGINE

DRAWING CONTENTS

ISOMETRIC VIEW, BILL OF MATERIALS
PARTS AND ASSEMBLIES

PROJECTION

& —1{J/DWDS

PROJECT No 09B-41-00
JDW DRAUGHTING SERVICES

DATE N
JAM. DE WAAL. 12 BRIGHTWELL STREET PAPAKURA JULY 2024 corvrigte J AM. DE WAAL PAPAKURA NZ
2110. NEW ZEALAND. PHONE: 0064 09 2988815. MOB:

0211791000 E-MAIL: dewaal@xtra.co.nz. SHEET: 02 OF 04 |[A3|N0:09B-41-00-SHT-02

MODEL SCALE: 11
DWG SCALE: 1:1 @A3 OR AS SHOWN

DRAWINGS ARE FOR PERSONAL USE ONLY NOT FOR COMMERCIAL PURPOSES



	.
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View10
	Section View B-B
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View24
	Drawing View25
	Drawing View26
	Section View C-C
	Section View D-D
	Drawing View29
	Detail View DETAIL E (1 : 1)
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Section View F-F
	Drawing View39


